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where having the lowest z-score would be the most desirable. 0 ,,” -

The mean weight of adult American men is 180 pounds with standard de

Wbmlpproxlma normally distributed. Use the 68%-95%-99. MH
of the following. - o -

3. l;au?n;ho valages given above, label the normal curve at the right with the numerical values hﬂhﬂ 0
o Uz

4 What percent of all adult American men have a wenght less than

OOOOOOOOOOOOO

5. What percent of all adult American men have a weight between

130 and 205 pounds? g
6. What percent of all adult American men have aweaght Iess than 230 pounds? *"n {9 Y &
7. What percent of all adult American men have a we(;gr‘\t Iess than 105 pounds? 0"'3/ .
8. The heaviest 16% of all men in weight weigh more than how many pounds? QOS\bSn
9. What weight separates the lowest 2.5% of all American men in weight from the remaining weights? J 0

10. A set of 1000 values has a normal distribution. The mean of the data is 120, and the standard deviatior
is 20. Draw and label a normal curve that represents this data. B

a. What percent of the dataisin the range 80 to 1007
0«2
b. What percent of the data is in the range 60 to 1407

83.%5 ‘4

¢. How many values are within the limits.L00 and 160?

000 (0-813) = BIS yglves
me many values are greater than 1407
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Find the s e standar davfaﬂon if the mean of a sample is 72, a z-score of 3, and:
':.":‘4 ]' '-.’=§"' ',' .-(Q-Ma (< _4‘ ! b‘ ﬁ -r‘,‘,‘;-, .
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‘3. A group of students weighs 500 US pennies. They find that the pennies have normallydis ibu

. wﬂh a mean of 3.1g and a standard deviation of 0. 14g

b. What percentage ofpe ies will weigh

: ~a.. What percentage of pennies will weigh 1
- between 2.8 and 3.3g72 between 2.11 and 3.5g¢ |
L5283 . 5 iy yowadcdf (2au,1.43) 2- 1.0- 32\ 101 Nomaledf (=707
= o.1Y OVER BRI, e
o SR L = Qv 2: 35-3.\ = 280 = -‘3’(- B
0_‘;‘ . . o .1+l 3 M“ -
‘c. What percentage of pennies will weigh d. What percentage of pennies =
less than 2.96g% more than 3.4g¢ . ._.j_-.,;
- \ .——3‘ M\ \ /. _aN C'\ | _\*-\ :.'7_,’ .??‘:'.‘-3;' ” 1\\5 .l N :
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4. Suppose the heights of adult men are normally distribui2u. ne heights of a sample of 30 men are shown

below in inches.

65,83, 69, 67, 69, 67, 67, 72,85, 68, 73,65, 67, 65,72, 71, 67,73, 68,72, 61,75, 66, 78, 63, 71, 68, 7'6....6?#-*@1

b. Draw a normal curve that represents fhé' :

a. Compute the mean and standard
distribution of adult male height based amh

deviation of the sample.

— e sample.
% =710 | |
S % =95 ,52 . ; : ’
™
c. What percent of men have a height above 74"¢ ;
N

z:'o 1""‘70 - 0"]5
B3 Noy nadcdf (8 1S, a A9) _

d. What percent of men have a height below 60"¢
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